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AR =)= S SIS SEXADY
M SENAASHUHANET (SYHYL/SY - 5&)
ool =9 - SEXAASHAIR (chol @)
A= 2N - BB S9(S) - HISAY - BES il v ol o HlDE2
Se)IER SEXRAD 5,595,600 5,363, 100 232,500
2 1,741,750 1,605,250 136,500
2 1,605,000 1,605,000 0
= 2,248,850 2,152,850 96,000
SENALSHYBASTH (SYHYSN/5Y - 52) 5,521,066 5,288,566 23,500
= 1,741,750 1,605,250 136,500
= 1,605,000 1,605,000 0
= 2,174,316 2,078,316 96,000
=9 SEXNALSHA 3,678,750 3,654,750 24,000
2 1,269,750 1,245,750 24,000
2 1,605,000 1,605,000 0
= 804,000 804,000 0
SONUEHARSHRASH (SEIII DI EXIR) 24,000 0 24,000
= 24,000 0 24,000
403 RXISHHI S RH20I & 24,000 0 24,000
= 24,000 0 24,000
01 RXISH XS E 24,000 0 24,000
(4 QUAEEIS =LA 24,000 0 24,000
= 24,000 0 24,000
sEMEesl 1,842,316 1,633,816 208,500
2 472,000 359,500 112,500
= 1,370,316 1,274,316 96,000
SEXAMNAEZ 156,716 23,716 33,000
101 124l 13,000 0 13,000
M IRIN2ERS 24 13,000 0 13,000
(X S S HIE 121 13,000 0 13,000
OLIELT 73,2801 %1% %1202 8,794 0 8,794
o4l 6,00024 %124 %1202 720 0 720
OREH| 3,000 121202 360 0 360
OFg+g 73,28021+262% 12 1,906 0 1,906
O Rt4g 73,2802 +62 %1% 440 0 440
42 780 0 780
201 Lst2 | 104,146 84,146 20,000
03 #At2 | 40,000 20,000 20,000
X RS ELA 20,000 0 20,000
Olaseols2 471,500 444,500 27,000
308 XX SIS 01 39,500 32,500 27,000
01 RXSHBLEES 349,500 322,500 27,000
(A4 2H e 51 2 THEI B X & 27,000 0 27,000
TV 659,900 623,900 3,000
301 Y EHZ 46,000 10,000 3,000
09 SAIAIHIXI RS 46,000 10,000 36,000
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